ECON611, PROBLEM SET #3: You must write your answers on a separate sheet.  You may hand in a hard copy of the STATA log file that shows the work you did to answer the following questions.  However, the STATA log file is not the answer sheet.
1. 
A. Construct a variable that measures potential experience (age-years of education-6).


B. Calculate the minimum, maximum and mean for potential experience.


C. Plot average log of hourly wages by years of potential experience.

2. 
A. Estimate an earnings equation using the log of hourly wages as the dependent variable and years of education, experience and experience squared as the independent variables.  Report the results of this regression in a table.


B. Interpret the coefficients on experience and experience squared.

C. Use a t-statistic to test whether the coefficient on years of education is significantly different from zero.  Test this hypothesis at the 1%, 5% and 10% level of significance.
D. Use the results of estimates of restricted and unrestricted models to jointly test this hypothesis that the coefficients on experience and experience squared are significantly different from zero.  Test this hypothesis at the 5% level of significance.
3.
A. Estimate an earnings equation using the log of hourly wages as the dependent variable and only years of education as the independent variable. Report the results of this regression and the regression in 2A in a single table.

B. Calculate the correlation coefficient between years of education and experience.


C. Are the coefficients on the education variables smaller or larger in 3A or 2A?  Why?

D. Which estimate, 2A or 3A, yields a better estimate of returns to education?  Explain.

